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SN AlIAE D
HmmEo el
crel:Z e 8 (Se:a)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
18,073,063 12,421,236 5,651,827
= 2,481,903
S AIAHE D} rag 1,135,692
T 2,449,200
= 12,006,268
8,654,659 5,564,387 3,090,272
S B 2 500,000
< 530,000
o 7,624,659
22| H & 1,422,660 1,157,700 264,960
ZHEAL 28 316,360 151,400 164,960
201 LBtE249H| 5,460 5,000 460
01 AtR2t2lbl 5,460 5,000 460
Osgsg 5,460
—HERANHUAE HHT AT
70,000& = 13Y = 63 5,460
202 o4 4| 7,900 13,400 A5,500
01 22Ul 7,900 13,400 5,500
OZ 22 HEALR =& | 7,900,000 7,900
203 &R =&H| 3,000 3,000
03 AIBFXHRFZXIH| 3,000 3,000
OZAHEANY FE2FA 300,000& = 103 3,000
207 A4 | 300,000 130,000 170,000
01 H3xxE49H| 300,000 130,000 170,000
ORB2INE 28 L NS M5 X
S3EH &M 300,000, 000& 300,000
TAHEEHE BRH 100,000 100,000
308 AHXIEHMSOIH 100,000 100,000
05 MXSHHZAREES 100,000 100,000
OZAIHEHEXN HBR=E 100,000,000& 100,000
T HEALE EX| Ba 1,006,300 1,006,300
401 Al&EHIZLE04H] 1,006,300 1,006,300
04 Al&H| 1,000,000 1,000,000
OFIIDIEEY ZHEAE EXNZ 4
800,000& = 1,250m’ 1,000,000
06 Al&=0HHI 6,300 6,300 0
OFIIDIEEY ZHEAE EXZ 4
6,300,000& 6,300
894,790 3,246,785 AN2,351,995
CAHEEZE SILE = 30,000
= 864,790
AT AHECE N Y BT 30,000 1,157,425 N1,127,425
o= 30,000
30,000 1,157,425 N1,127,425
401 N&HIL =20 c 30.000




Sk

X‘l iH

T AR E D
=ESAELOI

0K

S T AHECZ SHLE
SN EH.S(3) - MEAY - BAS O At ot i HRE2
04 Al&H| 30,000 1,150,000 A 1,120,000
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o= 30,000
SAEANHEEZE STE 350,000 783,600 A 433,600
401 Al&EHI L E0HH] 350,000 783,600 A 433,600
04 Al&H| 350,000 780,000 A 430,000
OZES~0tel HAZAHEEZ S A
2,333,333 * 150m 350,000
ExTAAHEEZE SEH 514,790 302, 160 212,630
401 AlEHIZE204H] 514,790 302, 160 212,630
02 & A& AHBI 11,190 0 11,190
OR=2diA=z 300,000,000& = 3.73% 11,190
03 EXoHYl 200,000 0 200,000
Fo2aigd = g25m * 320,000& 200,000
04 Al&H| 300,000 300,000 0
Oz=2dxd=z 200m = 1,500,000& 300,000
06 Al&=20HHI 3,600 2,160 1,440
fFRA2RIY=Z 500,000,000& =* 0.72% 3,600
AIDJEXIOl 2 &bl 680,525 569,000 111,525
B 2 0/ &l 270,625 101,440 169, 185
202 o4 H| 7,500 0 7,500
01 2Z2UWHbl 7,500 0 7,500
OAIJLXIOI 2 &d] SF2F=& b
7,500,000& 7,500
203 LR F=&H| 2,000 2,000
03 AHFAHIFZAY| 2,000 2,000
OAIIXI&EH g2F& 200,000& * 103 2,000
401 Al&EHI L E204H] 261,125 101,440 159,685
02 & A& AHbI 9,325 0 9,325
OZAIHERY W 23|
250,000,000& * 3.73% 9,325
04 Al&H| 250,000 100,000 150,000
OZAIHERZSE W EEE|
1,000m * 250,000& 250,000
06 AlE=20Hd] 1,800 1,440 360
OEANAHERY W BE& &I
250,000,000& * 0.72% 1,800
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200,000,000& * 3.73% 7,460
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06 Al&=20HbI 1,440 0 1,440
Oz & BEELNNES
200,000,000& * 0.72% 1,440
FI2=2& 2H|8tA b 201,000 367,560 166,560
201 LBr2 oy 1,000 6,640 A5,640
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—S4uol =L AB3 o3|
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401 AIEHIZLE20HB] 200,000 352,520 A 152,520
04 Al&H| 200,000 350,000 A 150,000
OS2R2H SERY XA
200,000,000& * 1002 200,000
| 563,456 566,902 N 3,446
fah ZESE 242 152,156 287,880 N135,724
101 Q124 H| 27,956 37,840 N9,884
10 JIZtHZ22ANAsSEs 27,956 37,840 N9,884
Ostzizaze 2ol 27,956
— Q14| 29,4303 * 8 x 108 25,428
— syzEE 05,428,008 * 0.0994 2508
201 LBr2 oy 30,160 20,900 9,260
01 AtR22ldl 8,840 9,740 A 900
O pta | 3,000
—oHH2tE & 050,00021 * 2044 500
o AT MIIQIEBR SAa
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— S ANPYDE AV BAX 4
70,0003 * 3Y * 43 840
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5,0008 * 400% 2,000
ouxtE 3,000
—SIAPYBRY SaE B
500,0008 * 63 3,000
02 =Zzegl 21,320 11,160 10,160
O3s22 % HA 16,320
—SHAR 2458 MIR2 S
1,360,008 * 122 16,320
OA&ZHIR X 5,000
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TASHE e 369,218 247,515 121,703
101 Q1A Hl 24,838 10,000 14,838
10 JIZHZ22NEES 24,838 10,000 14,838
o= zel 29,430& * 8% x 102 * 63l 14,127
O2stsazel 10,711
el 29,430 * 18 » 290 8,535
—R252dsE 29,430& * 198 » 41 1,207
—40 2 9,742,000& * 0.0994 969
201 LBt HH| 38,370 44,435 6,065
01 AFR2teld] 2,450 4,700 N2,250
Ogt=2H| 1,450
— K24 Y g A 250, 000& 250
—0IE0l 2 RO I el
700,000& 700
—s&= 2l 500, 000& 500
Oextz 1,000
— 33 &Hl &dl Xt 500,000& * 23| 1,000
02 3324l 35,920 39,735 AN3,815
ORZRIYHA 25,920
—=23sd ®Iea S
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—g4& AXISEX HISB
500,000& * 12& 6,000
OAl&8 &HlI s AlH] 10,000




SAEAIAE T
SN EH.S(3) - MEAY - BAS O At ot i HRE2
—Zosd = FANES 10,000, 000& 10,000
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02 AAIE A 5,110 0 5,110
OGet SEARAIBBY =8 F|
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03 EX0Hdl 150,000 0 150,000
O At sretaratora2IZ 2 =8 HH| (A=66
,511m") 150,000, 000& 150,000
04 Al&H| 150,000 192,000 N42,000
Ogat ghetatatot2el 33 =H FH|
100,000, 000& 100,000
O AXSAX HSAE2 &X
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OFYEES=sE FANE> 20,000,000& 20,000
06 Al&=20HbI 900 1,080 A 180
O ot ghetatatorael 33 =H FH|
900,000& 900
A =E 2 42,082 31,507 10,575
101 Q14 Hl 8,082 11,507 N3,425
10 JIZHZ22XNEES 8,082 11,507 N3,425
OKMEFAAIAL 22l 8,082
— QI H| 45,9403 * 18 = 20 » 80 7,351
—4H2E 7,351,000& * 0.0994 731
401 AlEHIZL204H] 34,000 20,000 14,000
04 Al&H| 34,000 20,000 14,000
ONEHZE LSAEES WH B
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Oztolst &4 X 7,000,000 * 202 14,000
Z210= 3ul 322,339 24,000 298,339
SN2 FH| 322,339 24,000 298,339
101 @1 A b 7,379 0 7,379
10 JIZHZ22AHsEs 7,379 0 7,379
O2g&a1= ddl of2 7,379
—Ool4d| 29,4303 * 294 x 100 5,886
—524I2Y 29,4303 * 2% x 14 825
—4H2E 6,711,000& * 0.0994 668
201 LBt AH| 1,960 0 1,960
01 At222ldl 1,960 0 1,960
Odet=gH| 1,260
—&S=8 WA 2 330,000& = 2JH 660
—=s8&10=2 4| &dl 7Y 600,000& 600
osgd==¢ 700
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(5 3,770,889
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401 Al EHIL 20| 1,080,000 1,080,000
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3,489,449 0 3,489,449
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MED = OIS =4
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2 2,489,449
201 B2 d| 1,000 1,000
01 AtR2eltl 1,000 1,000
OEIEIER =11 1,000
—HEY CeHOte HEB N
200,000& = 5K 1,000
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01 =LHoH| 5,500 5,500
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03 EXoHYI 897,208 0 897,208
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1,410,277 1,521,871 A 111,594
ASIMENH ES = 365,964
< 103,741
iy 940,572
1,410,277 1,521,871 A 111,594
A S = 365, 964
° 103,741
= 940,572
738,111 731,060 7,051
A Xz K& = 73,424
°c 51,055
= 613,632
706,703 688, 366 18,337
101 @14 H = 70,573
c 49,146
= 586,984
10 JIZHZ22ANHsSEs 706,703 688, 366 18,337
Odt=EH EH DI 10, 102
—ol2id| 45,9403 * 8YH * 25ha 9,188
—4lE8 = 9,188,000& * 0.0994 914
Ot 2ZAI&A 688,751
— Q12| 619,960,000& 619,960




Sk
X XH .
S Tt

ool

[z 1z H
00 08 >

HT 0z >
loh &0 0©
g
T
fol

il

RE-L

- SHRI(EIAH) - NRAY - B

0z
o

rz
12

=20
P
21

|
=z
MHI
e
Ao
>
o
o
0

100,000& = 43

6,766,000

619,960,000& = 0.0994

OdtE0gasl 2&+E(2Y)

OQISE HMHAL (3ha)

250,000& = 29

7,350,000&

H

M

H W

Mo

4 Hn oA

H

Mo

65,988
46,192
507,780

400
200
200
6,766
2,030
1,306
3,430
61,625

500
150
105
245
7,350
2,205
1,543
3,602

HoH W

24,558
2,716
1,814

20,028

31,144

A6,586

T o

T 40
r
o

4
0 0

O
ue

|
z
M
Pl
Ot
T
1o
o

e
Ho
z 08
4
on

e
[l
o
O
2
=
W

2| gt E)
’ A= (=}
0,

10,000,000&

4>
2

Uil
==

5,054,000

5,000& = 600
5,000& = 800

H

M

H N H

22,054
10,000

10,000
5,054
5,054
1,516

974
2,564
7,000
3,000
4,000
1,200

840
1,960
2,504
2,504

27,810

3,334

A5, 756

A 830




oA ALAFRI T}
Seiueoa (e51:82)
S FB SR (3) - NRAY - B2 0f 4 o i Bl DB
—MFHEHI RFH 1,504,000& 1,504
—MEZAIEA =4
200,000& = 5JH 1,000
202 OfHl 5,500 7,200 A 1,700
01 =Wl 5,500 7,200 A1,700
Odt=0geEs ol 5,500,000& 5,500
450 450 0
206 X =4l = 1%
S 95
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01 THZHl 450 450 0
OdsxtE Lstetdl 2¢ 450,000 450
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301 Lt ez 900 900
10 SAAHIENS 400 400
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= 7,702
s 17,971
OAURMASE HEZALR 14,910,000& 14,910
= 10,437
= 1,342
[ia 3,131
OAURMEEE E32X22(408)
2,147,000 2,147
= 1,503
= 193
s 451
9,491 0 9,491
201 er2 | i 0.2
[ 670
s 3,613
01 AtR2cltl 7,440 0 7,440
Ogx= 7,440
OAURMHEESE LIS X
7,440,000& 7,440
= 5,208
= 670
s 1,562
02 =229l 2,051 0 2,051
OAl£ EHIRXIHI 2,051
—AUSUEEY YH SR
1,4653 = 504 * 7AI2H = 40 2,051
206 i =4l 10,000 0 10,000
01 TZHI 10,000 0 10,000
OAUSMHASHL M XkIHCH 10,000,000 10,000
301 Lt ez 500 500
12 JIet24=s 500 500
OAUSMHASEHLM MO Zaz
100,000& = 53 500
81,539 33,700 47,839
401 AIZHIL =T - 07418
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s 10,068
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= 1,068
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& 1,334
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= 1,061
02 OCIZ2HCHE AF R HI 3,393 5,409 N2,016
OAURMEEYE stZ A (600ha)
3,393,000 3,393
= 1,877
= 455
= 1,061
B354 Ul AFY 3,938 51,938 48,000
101 @A b 1,838 1,838 0
10 JI2ZtHIZ2EXNSE S 1,838 1,838 0
OBTUR L =4 2R = o=
45,9403 * 20H * 2004 1,838
206 i = HI 2,100 2,100
01 MZ=H| 2,100 2,100
OFXNMUR & 25 Hails2H <M
Q! 14,0003 = 150H 2,100
140,692 102,562 38,130
MEES 2ASAIS = 97,665
& 12,557
= 30,470
138,262 99,073 39,189
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S 12,138
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— W=l 200,000& = 59& 1,000
= 700
= 90
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— o=t 240,000& * 10¥ 2,400
= 1,680
[ 216
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201 Ler2d| 1,170 2,000 A830
01 AtSR2teltl 1,170 2,000 A 830
Oger=2H| 1,170
—AEME2E =Y 2
234,000& = 52 1,170
1,260 1,489 A229
202 O4Hl = 802
= 113
o 265
01 =UWoHI 1,260 1,489 A229
OtgEsde At XIE 1,260,000 1,260
= 882
== 113
[ia 265
28,778 29,180 N402
ooz 2 20,265
< 2,554
T 5,959
25,687 29,180 A3,493
101 Q1244 i 10,101
= 2,276
s 5,310
10 JIZdM22ASEs 25,687 29,180 N3,493
=2 IAME 25,687
— QA 25,287,000 25,287
= 17,701
< 2,276
o 5,310
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HHn A

3,120,000

H Hn

6,307,000&

H

M

3,723,000&

23,835
23,835
6,307
4,426
564
1,317
17,528
734,246
734,246
93,709
58,711
10,499
24,499
120,373
48,322
21,615
50,436
517,044
264,112
82,255
170,677
3,120
2,430
207

483
6,307
6,307
4,425
565
1,317
3,723
3,723

218,972

13,613

1,654

23,835

515,274

AT,306

2,069

402 RI2tt=0l &

41,490

77,210

N35,720
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ok
X ZH -
S Tt

ool

>
LA >
> 0B

o ry ou
P Ja

0% Of

!
x

. XN XH
(=

CER(BA) - MBAY - BES 0l &t

12

=20
P
21

o
N

[
r

402 =01 ™

Mo H

32,265
2,767
6,458

01 &

r
P}
it
U H
i

O
A
oY
T
b
0
o
Hﬂ
Pl
b
o

15ha)
41,490,000

H

M

41,490

41,490
32,265
2,767
6,458

77,210

A35,720

=IHRIIAMY X2

Mo W

2,418,096
1,352,455
275,041
790,600

1,262,286

1,155,810

101 1A

Mo

18,681
13,401
1,584
3,696

41,922

N23,241

10 JIZtHZ22 X

o L
O&E AL (1Y)

17,601,000&

H

Mo

1,080,000&

H

18,681
17,601
12,321
1,584
3,696
1,080
1,080

41,922

A23,241

401 A& HIZ 20

Mo

2,397,915
1,339,054
272,707
786,154

1,212,964

1,184,951

02 AlAIAHH

ORIl AF(1,800ha)
04 Al&HI

O=JtRI| A2 (1,800ha)

OFS

o

Xl AFE= 22| (400ha)

133,000,000

2,018,410,000&

H Hn

165,505,000&

H Hn A

81,000,000&

133,000
133,000
2,183,915
2,018,410
1,247,106
250,640
520,664
165,505
91,948
22,067
51,490
81,000
81,000

1,151,570

57,028

133,000

1,032,345

23,972

H

1,500
750

4,400

A2,900
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Sk
X XH .
S Tt

ool

- SHRI(EIAH) - NRAY - B

0z
o

rz
12

=20
P
21

H

750

1,500,000&

Mo

1,500

1,500
750
750

4,400

A 2,900

HoH W

348,819
245,793
30,908
72,118

333,448

15,371

H

3,421
3,421

7,200

A3,779

OgXelEE £t =8

3,421,000&

H

3,421
3,421
3,421

7,200

AN3,779

Mo W

345,398
242,372
30,908
72,118

326,248

19,150

345,398,000

4 HnoH

345,398
345,398
242,372
30,908
72,118

326,248

19,150

Mo A

438,436
354,792
42,538
41,106

448,000

AN9,564

401 Al HIZL 20

MO A

438,436
354,792
42,538
41,106

448,000

A9,564

O ZIH & (4.63km)

421,126,000& * 3.39%

125,020,000&

=Y

Mo

264,606,000

&Y

Mo

14,277
14,277
421,126
125,020
100,014
12,503
12,503
264,606
229,578
26,885
8,143

444,775

14,277

A23,649
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A E A D
S FB SR (3) - NRAY - B2 0f 4 o i Bl DB
O E2=(7km) 31,500,000& 31,500
s 25,200
S 3,150
s 3,150
06 Al&Z=0i4l 3,033 3,225 A192
O A 421,127,000& = 0.0072 3,033
AHE XHofl Ol & 83,880 142,181 58,301
308 AFXIEHM SO0l & 83,880 142,181 /58,301
05 NXHHUAREHS 83,880 142,181 A 58,301
OAME AL 83,880
— AP EH (200 ) 45,888,000 45,888
— Ol AR (Tha) 7,290,000 7,290
— A" EA(500A) 3,150,000& 3,150
— MR M (DY ZelXF 2x)
27,552,000 27,552
125,000 0 125,000
(CHAFER I Rl = ) &F 2 TH ot 01l 2 - 109.0%
S 12,500
[ia 12,500
125,000 0 125,000
401 AlEHIL 2| - 10909
= 12,500
s 12,500
02 & AIEAHYI 6,026 0 6,026
Out=2dUZ AL 6,026,000 6,026
04 AlEHI 117,912 0 117,912
OM=TYZ Al (1km) 117,912,000& 117,912
= 100,000
S 12,500
s 5,412
06 AIZ20ibl 1,062 0 1,062
OM=dYZ A& 1,062,000 1,062
2,464,720 1,572,834 891,886
= 3,000
FEFEE IR = 80,900
= 711,000
o 1,669,820
1,907,945 955,634 952,311
= 3,000
HEFH =5t A A= 2 = 80,900
[ 630,000
(5 1,194,045
101 Q124 H] 550,877 469,721 81,156
10 JIZHZ22NsSES 550,877 469,721 81,156
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SN T AIAE D
Selzmna 2170l (25:22)
SN EH.S(3) - MEAY - BAS O At ot i HRE2
OFEFEEIRI| At=22| 550,877
— =X A S 29,640
- Ol 24| 65,000 * 2% = 200& 26,000
2224 65,000& * 2% » 28 3,640
— =X A (A ) 410,400
o124 | 45,000& * 40Y¥ = 200 360,000
sua94y
45,0008 = 40Y = 28 50,400
—Z22 234 AIE 22
31,0003 * 20 = 90 55,800
—4lE8 = 495,840,000& = 0.0994 49,287
— I SH(&2H=2 MG E) 5,750,000& 5,750
201 LBt AH| 19,196 25,709 6,513
01 ArR2t2lbl 7,000 16, 150 AN9,150
SEEE:] 2,000
— A2 AL FOIR 24
5,000& * 400 2,000
ogdx= 5,000
—=24)| S &Hl LXt 5,000,000& 5,000
02 =324l 12,196 9,559 2,637
OAl & &H| =Xt 12,196
— =MDl 2F0
1,163& = 104 = 30¢£ » 50 1,745
—STHIHA D! ==2lt] 500,000& 500
=JIAS, WHI /&
1,389& * 150 * 4AI2F » 90 7,501
=JIAIS, WHIl ==2clyl
30,000& = 50CH 1,500
—JIAHS, HFI & 2 950, 000& 950
202 44l 7,500 0 7,500
01 =2UWdodl 7,500 0 7,500
O=sKNEIANY RN 7,500,000& 7,500
206 M = Hli 59,800 63,804 A4,004
01 MZ=Hl 59,800 63,804 A4,004
OFE&EEIIRI XN 15,000, 000& 15,000
OYis2H ¢ 15,000, 000& 15,000
OZZ4+2 ¢ 2 YYX 7Y
10,000& * 5004 5,000
O&glgl 7 19,800
—MEH 8,800& * 500 4,400
—XdEs Ng=s8dlE 12,0003 * 450% 5,400
— 2 =EglY| 5,000& * 2,000 10,000
Ox=5k==2 P2 10,000& * 500% 5,000
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SN AR T}
Geisena 5w (e am)
S FB SR (3) - NRAY - B2 0f 4 o i Bl DB
6,000 4,000 2,000
207 AL N 2.0
= 900
[ia 2,100
01 2894 6,000 4,000 2,000
O A= AEHZA 6,000, 000& 6,000
= 3,000
[ 900
s 2,100
301 Lt a= 3,500 3,000 500
10 ALAHIE &= 3,500 3,000 500
OsNAT 28 DT 3,500
— W= 500,000& = 5& 2,500
— Sl 200,000& = 5¥ 1,000
1,251,172 380,000 871,172
401 AlZHIL =TI = 0.0
S 630,000
= 541,172
02 A AIEAHYI 37,373 0 37,373
OFAl 4328 =4 6,157,000& 6,157
O=X32 gHXH
327,774,000& * 0.0373 12,226
= 12,226
OkEdsf NFelE 23
382,957,000& * 0.0373 14,285
OE8X Su2sd =&
115,295,000& * 0.0408 4,705
04 AIEHI 1,209,954 378,560 831,394
Odex=H =3t 200,000,000& 200,000
[ 60,000
o 140,000
OZAl sM328 2L (1HA)
150,928,000& 150,928
[ 80,000
= 40,000
[ia 30,928
O=X=2t dHEZH(3ML) 327,774,000 327,774
S 327,774
O=selZZ =8 (1) 33,000,000 33,000
S 10,000
[ia 23,000
Oz UEelg 2 (2400 4)
382,957,000 382,957
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M A&
SnsEzs 55 (5 88)
SN EHY G (SH) - NBAY - BYS 01l &t o i Hl D=2
& 120,000
o 262,957
OZHA stuzsd &34 115,295,000& 115,295
= 60,000
= 55,295
06 Al&=CHHI 3,845 1,440 2,405
OEA s4Z2t &4 1,087,000& 1,087
cH= NG T
382,957,000& = 0.0072 2,758
405 XH4&HF SHI 9,900 7,000 2,900
01 XML EZFHSHI 9,900 7,000 2,900
OAtZ2tel &l =< 9,900
—JIAHS 500,000& = 2CH 1,000
— S UH DI 300,000& = 3CH 900
—AZd32d 5,000,000& 5,000
—=gdlg x| 500,000& = 2CH 1,000
—sgdx 500,000& * 2CH 1,000
—s3HHD| 500,000& * 2CH 1,000
2HZ4 125,110 200,000 AT74,890
203 Q2| 2,000 0 2,000
03 AIEHZFAHSZ=EH] 2,000 0 2,000
OZETFINRIIAY =&
200,000& * 103l 2,000
401 AlEHIZ 20| 123,110 200,000 AT76,890
02 A AIEAHYI 5,110 0 5,110
O&H=4d 100,000, 000& * 5.11% 5,110
04 Al&H| 118,000 198,560 A 80,560
OF=]=ESgn 20,000,000& = 5044 100,000
Obtsgd RXE=> 300,000& * 6094 A 18,000
82,000 168,000 286,000
B R R < 41,000
[ 41,000
82,000 168,000 286,000
401 AlEHIZ 20HYI = 41,000
[ 41,000
04 Al&HI 82,000 166,791 N84, 791
OSMUE=E 2 BZZZ (1)
82,000,000& 82,000
= 41,000
i 41,000
Z22 - 234 X4 182,000 189,200 AT,200
401 AIEHIZ 2] 182,000 150,000 32,000
04 Al&H| 182,000 150,000 32,000
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S A Al AR D}
dimeza oe (29):212)
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
EERE N EY
13,000,000& * 140159 182,000
SSAMAK MK E4 127,665 60,000 67,665
401 Al &HI L EL0HH] 127,665 60,000 67,665
02 A A& AHHI 7,665 0 7,665
OSMEtX] =4 (60ha) 7,665,000& 7,665
04 Al&H| 120,000 60,000 60,000
ORI =4 (60ha) 120,000
—SMHHX =4 1,500,000& * 60ha 90,000
—AtE 22 500,000& =* 60ha 30,000
lSAEE A 40,000 0 40,000
< 40,000
401 Al HI L2 40,000 0 40.000
[ 40,000
04 Al&H| 40,000 0 40,000
OAEH =20l aHXxH 20,000,000 20,000
& 20,000
OAEH AtelDiS E8HXx4d 20,000,000& 20,000
o= 20,000
271,635 1,234,000 37,635
_ ra 200,000
SAIEES UHl =X =4
& 625,000
= 446,635
871,635 834,000 37,635
= Jle & JI2&d &) o= 525,000
o 346,635
871,635 834,000 37,635
401 Al&EHI L EL0HH] = 525,000
2 346,635
02 &'AIE A 25,152 0 25,152
ORE=E Jie 2 JiI28d &3]
841,183,000& * 2.99% 25,152
04 Al&H| 841,183 828,746 12,437
ORE= Jie &2 JiI2&d &b
841,183,000& 841,183
== 525,000
= 316,183
06 AlEZ=20HH] 5,300 5,254 46
ORE= Jie &2 Ji2&d &l
841,183,000& * 0.63% 5,300
400,000 400,000 0
nag 200,000
MASCHT] X4 < 100,000
= 100,000
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SHMEAASE

Mmi=1 2 s
cel AR ES Oyl =X =N (Se:ad)
S-S (E) - HBAY - BES 04 & o8 i HIDS2
400,000 400,000 0
= 200,000
401 Al I L2 OH]
T 100,000
= 100,000
04 Al&H| 397,140 400,000 A2,860
Ox=MAZHI =4 397,140,000 397,140
= 200,000
& 100,000
= 97,140
06 AlE=2C0HYI 2,860 0 2,860
O4MASH XX
397,140,000& * 0.72% 2,860
HESAHHI (Al ) 45,940 30,780 15,160
ClHASHHI(Z A& D) 5,400 5,400 0
olH2HY| (S Al &R 1) 5,400 5,400 0
203 LR F=&H| 4,200 4,200 0
04 REANSIHLIRFAHI 4,200 4,200 0
O NS PEEHI (3021015
350,000& = 12& 4,200
204 XA Y| 1,200 1,200
01 Mg FH 1,200 1,200
OXMZERHEH| 100,000& * 12& 1,200
Jl23HI (T A& D)) 40,540 25,380 15,160
Jl23H (S AlAH D} 40,540 25,380 15,160
201 B2 Y| 26,740 15,380 11,360
01 AR 2t2ll 26,740 15,260 11,480
Oget+=gY| 11,560,000& 11,560
O= &l 5,000& = 239 * 11 * 12& 15,180
202 44| 13,800 10,000 3,800
01 =UWoddl 13,800 10,000 3,800
OJl=ge-3 50,000& * 23Y * 12& 13,800
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